[ Efficiency vs vertpos |
0.2

0.18F-

0.16f |-
0.14F f:---

0.12F

0.1
0.08
0.06
0.04
0.02

0

1

0.9

<+ |

RN RARC S LA LA PR RERE JRRRRRRS]

0.8
1072 107

10 10?

[ fake+duplicates vs vertr

0.8

0.6

0.4

0.2

| L LT e e -

...............................

________ ;_,,'_++__+;+

Efficiend

—=— DQM_DisplacedSUSY__mkFit_
—— DQM_DisplacedSUSY__mkFit_BDT_

0.2
0.18F
0.16F
0.14F
0.12F

0.1

L R TRt R .....
ooof-—+1-| el I
0.04F--1--i 4kt ﬁ = A
0.02f s .....
e j L
T
T
0855 —2:0 ~10 c:) 1:0 2:0

[ Efficiency vs. sim PV z |

0.2
0.18
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02

T [T T[T TP [T TT[T T[T [rTT
I Il# | | | | |

0

T

iy

L

o
o]

o

0.8

0.6

0.4

0.2

. T

............

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

10

1.

i

[y

|
N

0 =15 -10 =5 0

510 15 20



	Contents
	Page 1


